ARES X AMOEBA
M4 Assault Rifle

- . " - -
roa AR e T

=7 gk

USER RESTRICTED TO 18 YEARS OF AGE OROLDER




Al R N STl N

1. Press & release the butt stock
2. Insert the battery inside

0 NOT ENOUGH HOP UP

E © ExcEssIvE HoP UP

[mm Ywi N

SAFETY SEMI AUTO FULL AUTO

1. Press to release retracting lock

2. Pull to remove the butt stock

Replacement parts available from your local distributor or retailer




nn:k
P

1 A

Wi -

@ . soaxie o AB-BU
o -~ J
4 1 P

SP-0.8X8.5X2.5X 14

e .2,

% 8.
uB-2 £ SP-0.2X1.8X1.2X8

} § UB-4 88-1.5x7

CH-MaX10
HG-316 ﬂ CHAMXI0
CH-M4ax10~

sv-wx:.u}

UB-15
RCW-M2.6X5
spoaaxsxo Q@ FS-80 A
RC-M2X5 8
80-2X16
{ ; -
B LB-154 . )
$P-0.4X2.1X1.2X11 f ' FC'”&“’& \ ~
LB-153"| © g RcwWsM1.7x00 00
wuxzu L5158 4 - >
(i ‘ 5 5 @ RH-Maxe
SP-0.7X6X4X14 o~ .
*\5‘ v ST-159 A
A% RH-M8X16
LB-456 .
LB-150-A g
A ~IM-MAX4 . N e N
’ X LBAﬁ_//)‘ B\ &
RH-M4X8  gp.g7ax2.2x1.2x7 \ Y\ $-3X16
RCW-M3X8 ST-332 -
S
\ $0-3X12
\FC:Maxe
% ~ ST-330
-0.6X: .6X22 o
$P-0.6X3.8X2.5 P ‘ST-331

Fc-Maxe b LB-14

. ~
RC-M2X4 FC-M3X8 4
) &° ; .

RC-M2X4 FC-M3X18 ¥ e
& \ T FC-M3X8 ‘\ —
Re-maxd™ \) N \ Ga-277 G278 —_— & %p.0.4x3.2X1.6X8
FC-M3X18 MG-4

a5
RC-M2x4
b FC-MJX1\~“
FC-MJXO“ ‘.F&M%X! e
L

~ om2re MG-2’

< “ETW-M3 \
RCS-M2.3X8°5 o
FC-MaxX18 GB-44 | . MG-6
‘\ ) . GB-35
A 0 g
ETWMa'8 > W-3.1X6X0.5°2 = “~

\ ITW-M2.5

< . GB-44
GB-280 @0

GB-45 @ 0 W-3.1X6X0.3°2

OR-2.5X8 W-3.1X7X0.1°2

GB-392
SP-0.5X2.5X2X17 -
-
GB-29 ‘
GB-25 - Q
OR-2X12 - ;

>

1 FC-M3Xx8

RC-M2X4
b

g RC-M2X4

ARES Website : http://www.aresairsoff.com

— Amoeba Website : http://www.amoeba-airsoft.com
Rcw_mx:" : General Enquiries : ares@aresairsoft.com Dealer Enquiries : sales@aresairsoff.com
— @© ARES 2016, all rights reserved
© AMOEBA 2016, all rights reserved

v
RC-M2X4

)
RC-M2X4




| M4-AMSS-BK - SPECIFICATION
e Py | BATTERY: 7.4v~11.1v Li-Po Ready
' MAGAZINE CAPACITY : 300rds (6MM BB)
Bolt Cover | FIRE MODE : Safe / Semi / Full Auto
Rear Sight — FrontSight | GEARBOX: M4 Gearbox (EFCS)
S - MATERIAL : Metal + Nylon Fiber
MOTOR : High Torque Flat Motor
HOP-UP : Adjustable
VELOCITY /| ENERGY : 380~410 FPS /
Amebacigndguard (Based on 0.20g BB) Less Than 2 Joules

Hi-Cap Magazine

* Programmable gearbox via EFCS programming unit
Magazine Release Knob | (sold seperately).
| Fire Mode can be configured to :

| Safe ¢ Semi * 3rds Burst /
Safe ¢ 3rds Burst  Auto /
Safe » Semi * Semi

EFCS
programmer
( EFCS-P-001)

M4-AML-BK

El% E
|
1@ A

%El
Ares Website: www.aresairsoft.com . Amoeha Wehsite: www.amoeha-airsoft.com =&

Divisions of Forever Good (Hong Kong) Ltd. \égREs m “ @ Ocl:aer‘ms AA

DISTRIBUTED BY ARES AIRSOFT General Enquiries: ares@aresairsoft.com ©Ares 2016 Copyright, All Rights Reserved. ©Amoeba 2016 Copyright, All Rights Reserved.




